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. Noumohoyiotel o uxd(7026, 3999) xan va ypapel ¢ YRoUUXOS GUVBUAGHOE AUTWY

(ue axéponouc cuvteleotéc). To (Blo xou yia Touc apriuoie 567 xou 392.

. Av (a,b) = 1 vo omoderydei 6t uxd(a +b,a —b) =1 % 2.

Av (a,b) =1 vo omoderydel 6t pxd(a + b,a* — ab+b?) =1 4 3.

Av (a,b) =1 xou ¢ € Z vo amodewydei 61t uxd(ab, ¢) =uxd(a, c)-uxd(b, c).

No amodetydel 6t uxd(a + b, 5a + 6b) =uxd(a, b).

Av (a,6) = (b,6) = 1 va amodetydel o1t uxd(a? — b%,12) = 12.

No Bpedoiv guoxol aprdyol m, n tétolol Hdote m+n = 432 xou uxd(m, n) = 36.

Na anodetydel ot yia xédde guod n woyler dtt wd(n? + 1, (n+ 1)+ 1) =1 A
D.
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‘BEotww a,b,c € Nye (b,c) =1xaun € Nuen > 2. Av a™ = be va anodery el
6TL uTdipyouv Quotxol aq, as e (a1, a2) = 1, a = ajas Yy T0Ug onoloug Loy el
ot b=a} xu c = aj.



